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01 pIZTEEE 63,000 60,000 3,000
CFS-EE-3 152 +7,000, 0002 +60% 63,000
S42 HeHED 30,000 30,000 0
402 212t XH 01 F 30,000 30,000 0
01 DINTEEE 30,000 30,000 0
osig He 30,000
A0 EUE SHAY 2,614,500 2,600,000 14,500
| 1,140,000
= 876,500
Al 598,000
402 Q12X 0|H 2,614,500 2,600,000 14,500
| 1,140,000
= 876,500
Al 598,000
01 DINTGEEE 2,614,500 2,600,000 14,500
CENERI= 2,614,500
| 1,140,000
= 876,500
Al 598,000
N0 HUT 018 2,136,000 280,014 1,855,986
3 1,548,000
= 177,000
Al 411,000
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402 2IZ2tt=01A

= H W

2,136,000
1,548,000
177,000
411,000

280,014

01 SI2+X
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©
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=
=
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P
=
0F0
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0
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2,136,000
2,136,000

1,548,000
177,000
411,000

280,014

1,855,986

819,750
327,900
163,950
327,900

819,750

402 22t =01

819,750
327,900
163,950
327,900

819,750

01 2ItXEEx

819,750

819,750
327,900
163,950
327,900

819,750

40

480,000

300,000
180,000

800,000

320,000

402 22t =01

480,000

300,000
180,000

800,000

320,000

01 ezt

480,000

480,000

300,000
180,000

800,000

/320,000

210,000

150,000
60,000

210,000

210,000

150,000
60,000

210,000

o

= 0

210,000
210,000

150,000
60,000

210,000

=

1,102,000

787,000
315,000

490,000

612,000

402 2Iz2tt=E0ld

1,102,000

490,000

612,000
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3 787,000
Al 315,000
01 DI2R=EE 1,102,000 490,000 612,000
ONASIES HILEA X 1,102,000
=l 787,000
Al 315,000
SAS 24T2I(6AP) AL S 50,000 0 50,000
= 30,000
Al 20,000
402 QI2HXHZO|H 50,000 0 50,000
= 30,000
Al 20,000
01 D2R=EE 50,000 0 50,000
Os4E LA SA 50,000
=2 30,000
Al 20,000
SolEH AAE XX 15,000 0 15,000
402 QI2HXHZO0|H 15,000 0 15,000
01 DIZR=EE 15,000 0 15,000
ORI H AlABHT X| 15,000
D=0 FIIFEILS N 67,000 0 67,000
402 22ROl F 67,000 0 67,000
01 BIZHAEEE 67,000 0 67,000
OB4=It HIIFEIS N 67,000
HPH0S HeNED X2 7,500 0 17,500
3 12,500
Al 5,000
402 QITH2O0|H 17,500 0 17,500
3 12,500
Al 5,000
01 UAREBE 17,500 0 17,500
OFLEHIIS H2HED 17,500
=l 12,500
Al 5,000
NEINE=SITE T 851,957 1,007,121 A 155,164
| 254,000
= 130,483
Al 467,474
ZAN2(H22l) +2HEH X 432,000 468,000 36,000
| 192,000
= 48,000
Al 192,000
402 QI2XHZO0|H 432,000 468,000 36,000
g 192,000
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48,000
192,000

=

01 2IHX=Ex 432,000 468,000 236,000
MNE(BE2) =2 H=d X 432,000
192,000

48,000
192,000

= Y

LSO AIFSAIE SUHSHALY 25,000 50,000 25,000

402 QIHHE01M 25,000 50,000 A 25,000

2L 25,000 50,000 A 25,000
A

F=EAIE SUEALY
5,000,000 x5 It 25,000

EMNS(EER) Z2EH FUIX2 75,000 180,000 A 105,000
30,000

15,000
30,000

>y

402 QIEHE01M 75,000 180,000 A 105,000
30,000
15,000
30,000

=N Y

01 2IEXEE X 75,000 180,000 A 105,000
A= (HEel) 2EH ZHIXA 75,000

30,000

15,000

30,000

=N X

SOHXl ALY ALY 2,000 1,100 900
600
1,400

=

402 QIHHE01M 2,000 1,100 900
600
1,400

=

02 SI2HCHEH AL HI 2,000 1,100 900
OSSO0l At ot ALY 2,000
600
1,400

= H

SR 22IALE 1,200 840 360
400
800

= H

402 QIEHE01H 1,200 840 360

400
800

=

02 QI2HCHE AFRIH 1,200 840 360

OB QAN A2 Al 1,200
400
800

= H
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SEAS ML RSB
T2l AFBAISDIBHE S (crel @
_ - HMEE =
N33 S2(3H) - MEAMY - BES &hoh Ol Ak O it
DE 2N XS 22,457 21,181 1,276
= 8,983
Al 13,474
402 BIZHRHE 0| 22,457 21,181 1,276
= 8,983
Al 13,474
01 QIRRtER = 22,457 21,181 1,276
ONERYE I X 22,457
< 8,983
Al 13,474
el M ZY3 160,000 234,000 AT4,000
= 23,000
Al 137,000
301 YptEAZ 160,000 234,000 AT4,000
= 23,000
Al 137,000
12 Jeeaa 160,000 234,000 AT4,000
OHZ2(EAR) MRS 160,000
= 23,000
Al 137,000
SIIMEH XIS 3,000 1,750 1,250
3 900
Al 2,100
402 RIZHRHE0IH 3,000 1,750 1,250
= 900
Al 2,100
TR =ES 3,000 1,750 1,250
OXRIINEM X 3,000
= 900
Al 2,100
METHH ¥ SEI X 32,000 33,000 A1,000
g 32,000
402 BIZHRH= 0| 32,000 33,000 A 1,000
p 32,000
01 SIRRp=R X 32,000 33,000 A 1,000
OEZNB(EAZ)HH L SEXIY X 32,000
p 32,000
22l WE20l N 24,000 17,250 6,750
= 8,000
Al 16,000
402 BIZHRHE0IH 24,000 17,250 6,750
= 8,000
Al 16,000
01 QIRtRHER = 24,000 17,250 6,750
oF=el HEZ0i0l X 24,000
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Al 5,200
402 SI2 X201 7,800 0 7,800
& 2,600
Al 5,200
01 It EEX 7,800 0 7,800
O Ao AIAE XI & AHS 7,800
e 2,600
Al 5,200
DEEUX DI AT A 7,500 0 7,500
< 3,000
Al 4,500
402 SIt X201 7,500 0 7,500
= 3,000
Al 4,500
01 222 E X 7,500 0 7,500
OLNEE XD AKX 7,500
= 3,000
Al 4,500
ANSE 22 2301EEH X 60,000 0 60,000
< 20,000
Al 40,000
402 SI2t X201 60,000 0 60,000
(= 20,000
Al 40,000
01 22 XG2EX 60,000 0 60,000
OMEE S s==0I8HH LN 60,000
= 20,000
Al 40,000
SOHAIE 22 2 1,082,000 200,000 882,000
SOHAIE AlE JHE ALY 1,032,000 150,000 882,000
401 A &HIZL 2048 1,032,000 150,000 882,000
01 Al&H| 1,027,000 150,000 877,000
OEAIE SZHH A 1,027,000
03 AIE20bl 5,000 0 5,000
OZOHAIE SZME ALY 5,000
SOHAIEAIE RRE=x 50,000 50,000 0
201 et 50,000 50,000 0
02 2234l 50,000 50,000 0
OZMHAIE AMEEH RXNE=s 20,000
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